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SECONDARY SCHOOL EXAMINATION - 2018 (ANNUAL)
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Instructions ior the candidates:

Y 9deme aenr emim ama gt 0 # aew %

Canditates are requred 10 grve their answers in their own words as lar as peacticabie

2 @R v @ 7 B g A guts (e w8
Figures in ihe rght hand Margan inarcale fill macks. .

3 uev 3 ey el ourea ne-ahi o e vy BiharPaper.com
While answer.ng e quostons, candidate showid adhere to the word bma as far as practieabie,

¢ BT AT OF 2P mmEde gad W AW 15 Pae a1 3w i R v &

15 Minutes ¢f exira tmve has been arlofted lor the candidates o read the gueshons carelully,

5 WUM-NF et ITIARE I - F T AT~ |
This question paper is dwvaod into two Seckons — Seclion - A and Section-8.

6. TUT- I T 40 TNPAC pwy & Wl per widar) &1 ek ¥ v 1 I Puifa &) T
TV AT Ford ) oM - e 4 R wd af) gn & @, DD @ dx @ w7 1 B
R goR F FIETA 0T Tl Y /TR W w7 wew e ¥ wohw wvw v d
3RrIT T STy 3Ty @i
In Section - A_there are 40 objective type questions which are compuisary, each carrying 1 mark.
Darken the o' with blue.black ball pen against the corract oplion on OMR Shee! provided 1o you.
Do not use Whitener Liquid'Biado:Nall on OMR Paper; otherwise the resuil will be Inveiid.

7.  wow — & 7 2vm @ yivla g 3 Rl 3 Iy ovihg mea &1 s yRm W o
¥ 3 & arefte gy B3 12 ¢ wedw wed B R0 Res e & g} F o s svr
foor wnr
in Seclion - B. there are short snswer lype questions of 3 subjects under Sclence. Apart from

this. there are 3 Long Answer Type questions. Each question has an alternate opilon.
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wvs — & / SECTION -1

EE’E H / Objective Type Questions)

Prnfarr agfiocdn avt 4 @ wa fw 791 BiharPaper.com (60X 1=40)

Select the correct alernative out of following multi choice questions,

1. 7dm ciﬂTHEW?ﬁm‘a-gmqﬁgmq,nqﬂmimdﬂmmm%-

(A) Y& g (B) @& fyem
(C) Wi s D) A W0 @ FRE
The diameter of a circular outline of the reflecting surface of spherical mirvor i
called -
(A) Principal focus (B) Radius of curvarure
(C) Principal axis (D) Apenure
2. Ffafa § & #%9 3aa 50 @ BFF g ¢ B T Pren 32 om 22
(A) + 8cm . (B) - 8m

SO ¢+ 16em  BijharPaper.com (D) - l6cm |

Which one of the following is focal length of the convex mirrar whose radius of
curvature is 32em?

{A) +¥em (B) -8m
{C) +16cm (I -16cm
3. =R 5 fua o wRRA # aMda wones & @ 9w s uply Fm BA?

J(A) amafas s awer (M) arwfle s dnn ) |

(C) amuel afte hn (D) anmd &k I

What will be the nature of the image of an object. if magnilication of the image is
negative?

(A) Real and invernad (B) Real and erect

(C) Vinual and erect (D} Virtual und inverted

BiharPaper.com
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- ﬂ?#mmumﬁmﬂm‘iwaﬁmmdnmma-
A TR I ge'R (B) 3PAA B Yaope w
O Ffm % aed yrs (D) T A ohd &

Most of the refraction for the light rays entering the eye occurs at -
(A) Interface of aqueous humour

(C) Outer wurfiuce of corney

BiharPaper.com

(B) Interface of cye lens
(D) none of these

m‘T“ﬂmargﬁaﬁﬂwmrﬁ,ﬂmg$wmﬁﬂw$mﬁm
e AP Ry

L=

(A) @@

(B) =it
() & D) HNar
When sunlight passes through the atmosphere, which colour of light gets scattered
strongly by the fine particles in air? BiharPaper.com
(A) Red (B) Orange
(C) Green (D) Bluc
6. ma & Jwiva weard) gy w9 gl & -
(A) S0Hz (B) 60Hz
JO) 70Hz (D) 8011z
In India. the frequency of produced altemating current is -
(A) S0Hz () 60Hz
(©) 0Nz (I)) ROH.

7. ﬁrmﬁsr-eﬁlz?ﬁmqwnvmﬂv#ﬁﬁﬂmfmmﬂm&mmmmm
M =5 (Least count) & -

(A) 05V [(B) 005V
(€) 0005V (M) 00005V

Therc are 20 divisions between OV and 1V on the scule of a voltmeter. The least

count of the voltmeter is -

(A 0.5V (B) 0.05V
(C) 0005V BiharPaper.com (D) 0.0005V
[212] Page 3 of 16
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8. @ wmgm vt Ryge um frafefe A ot @87
(A) 10°A BiharPaper.com (B) 10°A

(©) 10%A (D) 10°A
Which one of the following is ane micro ampere of electric current?
(A) 10“A (B) 10°A
(€©) 10°A (D) 107°A
9. M B3 gaw B s gad Yot A R o A 8
FA) SRy A e (B) =R g A TR I
(C) TR @ 2 ofted ym (D) 2= e A 9EA g
What is the direction of magnetic field lines inside a bar magnet?
(A) from North to South pole (B} [rom Sauth pole ta North pole

(C) {rom North pole 1o Westemn pole (D) from South pole 10 Westermn pole
10. =g Re@ aRey 3 i o a7 = @ £

(A) ¥ . (B o=
BiharPaper.com

{C) T (DY dien
In domestic electric circuit. the colour of neutral wire is -
(A) Red (B) Green
(C) Black (D) Yellow

1. ¥ yfd 3§ o gom Re WRadq w1 wrd T #7
(A) Rea afrs (B) Ry wex
(C) A= (D) TR
In which device, the split ring acts as commutator?
(A) Electric generator (B) Electric motor
(C) Galvanometer (D) Vol weter

12. o= Rgy wo 70 st &) gy s & Forfie & 2
(A) il wer (B) w™Fm Tt
(C) R =+ (D) Rufdrs st
Which energy does a hydro electric power plant convert into electric energy?
(A} Thermal cnergy (B) Nuclear enerpy
(C) Solar energy (D) Potential encrgy

BiharPaper.com
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13. T svfiaha e vina e oo § Rem e?
(A) IRram AB) e
(C) IR (D) T
In which State. Narora nuclear power reactor is sitiated?

(A) Rajasthan (B)Y Maharashtra
(C) Unar Pradesh (D) Gujarat

BiharPaper.com

14. ﬁma#ﬂmmgm BT o #7
(AY CuO +(B) Ca(OH),
() CHCG; (D) Ca
Which one of the following is slaked Jime?
(A) CaQ (B) Ca(OH),
(C) CaCoQ, (D) Ca

15. Zn + CuS0O, - ZnS0, + Cu
SR & i naafrs st B gor o 82

(A) wuraq sffem AB) Rremad s
(C) Rfdwms smiym Dy g aRGEm
Zn + CuSO,; = ZnS0, + Cu BiharPaper.com

The above reaction is an cxample of a -

(A) Combination reaction (B) displacement reaction

(C) Double displacement reaction (D) decompasition reaction
16. F3 g4 e Rewa @ ) @a #r <o &, §97 pH wiam: @ -~

dA) 5 By 7
(C) 8 (D) 10
A solution tumns bluc litmus paper red: its pH is likely 1o be. -
(A) 5 B 7
{C) 8 (> 10
17. siffae sva @ gl w=ia Brafafie 3 ot §2
(A) Taq o (B) TR
) T (D) wrh
Which one of the following is the natwral source of Oxalic acid?
(A) Orange (B) Tomato

(C) Vinegar BiharPaper.com (Dy Tamarind
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18. fr=fafam § a4 v afYs sRfEarda u1d 27  BiharPaper.com

AA) Mg (B) Ca
(C) Na (D) K
Which of the following is the most reactive metal?
(A) Mg (B) Ca
(C) Na D) K

19. o Ren (Fust vi) B ooun A T ETSERE Wt (@ e TERE I B
Ara fRsor gen &2

(A) 3:2 B) 2:3
© 3:1 () 1:3
In what ratio, the concentrated Hydrochloric acid and the concentrated Nitric acid

solutions arc present in freshly prepared aqua regia (royal water) solution -

(A) 3:2 Biharp (B) 2:3
(C} 34 InarFaper.com {D) ):3
JH

20. —‘i\ o1 wemioaE wag PRl & w9 29
o

(A) @M (B) sradfeafae o=
(C) tr=meid L) VxeerzE

/H
Which one of the following is the functional group of —[;\ ?
(A) Ketone (B} Carboxylic acid 0
(C) Alcohol (D) Aldchyde

21. wre ¥ sfvaE A Gyl &, gadl -

(A) 7 U |AIT M 2 (B) 8 TR WOt el 21
(C) 9 U§ wias e &) D) 10 WE FUSTS AT &
Propanc, with the molecular formula C, H; has -
(A) 7 covalent bonds (B) 8 covalent bonds
(C) 9 covalent bonds (1) 10 covalent bonds

BiharPaper.com
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2. muﬁmmﬁnm#mawmmﬂmwﬂm)-
(A) ¥am ¢

(B) wrzen &) BiharPaper.com
:(.) @thl. (D) FHAFE 1
l:l moving from lefi 10 right across the period of the modern periodic table, the atomic
size -
(A) increases (B) dccreases

{C) remains unchanged (D) none of these
3. WOy wRA ¥ Rt oud Tow &2

AA) 7 (B) 9

(C) s , D) 1

How many vertical column (Groups) are in modem periodic table?
(A) 7

| BiharPaper.com () 9
(C) 15 O 18

M. tF U W vl A Ry dfdy agealde @ o Baua 4 adte ges A
O §= Mam & o Pratafam A o= o @ REm?
(A) @& (B) =
(C) arh (M 9=

L
A student adds a few drops of universal indicator to a dilute solution of sodium
bicarbonate taken in a test tube, which of the following colours would be observed?

(A) Blue (B Green
(C)» Orange (D) Yellow
5. W4 AR G @) Gamm A & i@ 90 s A el -

(A) dreht (B) e
JO andar HAen (D) @

When Magnesium ribbon is ignited. the lTame produced by it is -

(A) Yellow (8) Bloc BiharPaper.com
(C) Dazzling white (D) Red

S———
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% T M T A wa e on A A DA T gar T I o P W
“mwﬂ*fﬂ’mquﬂﬁﬂﬁHﬁt{ﬂﬁlHﬂﬁﬁmﬂﬂﬂﬁ'ﬂmm'
(A) Zns0, JB) CuSO;

BiharPaper.com
iC) Feso, (D) AL(SO,) .

An iron mail was dipped in solution kept in & test tube. After half an hour, it was

Puserved that colour of the solution his changed. The solution in test fube wis -
(:) Zns0o, (B) CuSO,
) Feso,

20, Py (D AL SO,

LR KT g — FT94 W fpnr e &7
(A) A&y (B) Zfeq

JC)  wrgwy.
v - Rty M M & o a6

Which one of
of the followiny instry ¢
ments is o€ S aiifing
(A} Barometer Used for measuring Blood Pressure?

(B) Manometer

() Sﬁ}gl\!ﬂmmmlﬂ BiharPaper.com

28. D none of thes
Hﬁa;:aﬂ#‘auwammmﬂmm. N..
T @ S AU DT TR - 4AF IUF
A T T it
'ERX (RB.C)
© e aew iEi W s Ty (W.B.C)
Wha compon J whim
' ol Blood pees :
(A) Red Bl e Prevents bleeding by ¢l formation o POINLS of ininew
€) Platefers B) White Bloog cells injury”
29. gy 0 Ly
tﬁfylﬁ IR W15 4 2 g ooy 'mnph
i BELIGN t?
() wrewrey B agmyn
What is the necessary clement mib] 12 Qe
(A) Sodiyp, OF the thyroig glang
to,
© Phosphurys ®) Chigip thyroxine hormone»
H‘\ . [l} ¥
[2'2] BiharPaper.com Nonc of hese



30. " :
R D - T A ekt ao Wi &1 s a @
(A 3T uftaey '

(B) =a 3Rees
What pan of the brai i .

AN maintaing posture and equilibrium of the body?
(A) Fope - Brain (B) Mid - Brian
{C) Cercbellum (D) Allof these
Eq & WEMBP A § -
(A) B & s o) spqpd A gl @ foy
(B) a3 4@ o1 = fyy
(©) Wz a1 g A AR et @ fie
DY 5 3 )

!C; SFPittaay BiharPaper.com

3l

Plant hormone *Cytokinins' is helpful for - BiharPaper.com
(A growth of shoot tip in length
(B) growth of stem
(Cr bending the plunt towards light
(D) All of these
32, =g A 9T W AR Prefatti § @ o 87
{A) &% mniq

(B) ¥ =

{C) TFT (b)) REs
Which one of the following is the mude of reproduction in | lydra?
(A) Vegetalive propagation (B) Sporc formation
(Cr» Budding (D) Fission

33, M @ F AR WA A 87
(A) TTUTHA (B) vgd
«C) Y (D) TNFT
Which part of a flower produces pollen grains?
(A) Sepals BiharPaper.com (B) Petals
(C) Stamens (D) Carpels

[212) reeRet® e



34, ﬁﬂﬁﬁﬂﬁ'ﬁmﬂmmiﬁﬂﬂm‘fﬂt?

(A) dgrny (B) THiT BiharPaper.com
 NO) gEwfem (D) 34 afFh
Which of the following is not a part of the female reproductive system in human
being?
(A} Ovary (B) Uerus
(C) Vas deferens (D} Oviduct
3s. Rma Fumy o1 sl ey fyar?
(A} =i =g (B) N b
€) & 8 Im (D) 2R Gl s
Who propounded the laws of Inheritance?
(A) Charles Darwin (B) Rohert Hooke
(C) J.C.Bose (D) Gregor Johann Mendel
46, RAdl A fd 7R &1 g 2 & —  BiharPaper.com
(A} XY AB) XX
W) YY (D) 77 R
Women have a pair of Sex Chromosommes -
(A) XY (B) XX
(C} YY (D) All of these
37, He ufem @ FIY e ot R TR TR A 9ED U o cendiet ) gacn Wi -
(A) W3 @) vt & 37 (B) AWk 1wt @ Brg

(Cy u-ft & yomm F1 & My (D) %43 @ =f F TaY
A green leaf 15 boiled in Alcohel before using Iodine for starch test in order to -

(A) dissolve starch _ (B)  disselve chlorophyll

(") soften the leaf (D) All of the above
38, WSS T AIWGH BUGS HISAEET U Sl uliar § -

(A} Sx W B} 10x W

) 25x W (D) 45 x 1

The slide is first focussed under Compound Microscope ar -

(A) 5x (B) 10x

(C) 25x BiharPaper.com () 45x
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39. = ufye il
(A) gfhay T2 AW w4y gy & - BiharPaper.com
(©) vty JAB) =
D)
The gap between 1y, NeUrons i« o -
(A) dendrite Pivcalieda
(C) Axon (Bl Symapse
A :ﬂm TN Fasion e 87
.:C’ LT e (B) OnnL a6 R s
}. TR, Ta ) e (D) WL a6 @ wpd)
Which of the following constitutes u Foud chain®
{g} Grass, wheut and Tango (B) Grass, goat and humun
(€) Goat. Cow and elephant (D) Grass, Goat and fish
BiharPaper.com
T8 ~F / SECTION =1}
(RN T/ Nom - Objective Ty uestions
e me/ PUYSICS
dg-vada w1/ Short Answer Tvpe Question
33w,/ Instructions: Marks:40

Tl W& + & 6 o7 &y ondy grr & gl 8 Rt un gvil @ anv @4

There are short answer type questions form guestion na, I to 6. Give answer any four

questions out of six short answer lype questions.

ST o URERa @ Pradl 7 e 3 g e Avg A suda) @)
Write Liws of Reflection of Light and illustrate it with a Ruy diugrum.

gaten wd (il & T 4E T Fai wifr da 82 @)
Why does the Sun uppear Reddish early in the moming and in the evening?

BiharPaper.com
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BiharPaper.com )
e . SN anTd,
Fian Frggar whv 1 aracen anves o8 Fred 2V @ 0 T A fedl v 662 B

et sacirEn 4 walo @ @)

Td

T 6 THRT T 0 120 sl Tl @ @0 4

> oyt
: - . ¢ cells of 2V
Draw a schemunic diagram of a circuit copsisung of 3 battery of three ¢

: ey -unnecied In
each. a S rewstor, an BQ resistor, a 1202 resistor and a plug key, all col

séres,
_. . o (e @ FT)
4. [ gs Qe aan e swefdl § T yang gg un] & 9 TR fn s
T2 g ) (2)

¥ v [ an 4
Why are coils of Electric Taasters and Electric lron made of an alloy rather th

PPure mctal?

5. QoA F W o Keof BiharPaper.com (2)
Wiste the Flenung's right haid rule.

6. P ITHF @ e o ) i e e T TR & ' @
Why are we loshang ac aleernate sources of energy”

M gurda o/ Leng Anwwer Type question :-
7. oy rom wdda T &9 (2+2+2=86)

Whit 1s clectrie power?
(b) P ai H=FRi
Ael B, (B g (R) 8 Bege wa (D gt 558 5 9= oo o 4 )

Denve 1 = 'Ry, where H. is the amount of Heat produced by steady current (1)

through a resistor (R) in time 1.
{¢) 6V deft a cuet Ak @ ya aedln srdn o Rl s & el @2

How much energy is given to cach Coulomb of charge passing through a 6V

battery? BiharPaper.com

Jua / OR
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(a ;
! W e % W T

187
What .
o you mean by scuttering of Light?
(b) T gof _ g
% — 9¢ o 27 BiharPaper.com

Whan iy Spectrum of Light?

(¢} =t - ;
# 0 X S N8 e F -y 1 wren o)

Explain the dispersion of White light passing through a Glass Pnsm,

WIE W,/ CHEMISTRY

QTR ¥R/ Short Answer Type Question
RIw/ nstructions:

L

F¥7 et 8 13 aw qg-awhy weq & gaF A 5 we gpf @1 o )

There are short answer type questions form guestion No, 8 to 13, Give answer any four

questions oul of six questions. BiharPaper.com

],  ameiwer sfafEar A aiv om w7 U a9 AET wEIE 2)
What do you mcan by a Precipitation Reaction? Explain it by giving an example.

9. Wy # sy ¥ e W aEE F=RE IS A A @ @
Why wids do not show acidic hehaviour in the absence of Water?

10. 37 affmst & B & faflyg -
() m& uY A )

BiharPaper.com
(i) o @ e bl
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Write - . .
NIe equations for the reactions of - BiharPaper.com

@ Iron with Steam
(M Cileium with Wager

H. A= gy 9 ALURRE (ng R i i o B ?
() 78Ry

(i) TUNFE WA

Draw the structure for the fallowing compounds —

1} Chlorapropune {ii) Propionic ucid
12. =1 el @ gastive R fadl | @
m Cu

i) Cr BiharPaper.com

frigs . P - : .
Write electronic configuration of the fullowing clements.

(i)
13 (i)
{(n)
| & 2 T}
(b)

Ca (i Cr

401 T 8, T A 41 @1 4 72 A &2 (1+1=2)
What happens when metals are burnt in air?

A 2, e Al WA & e Sl e &

What happen when metals react with water?

Suiaada 77/ Long Answer Type Question
Faadg AN 20 87 IEEIY AT THSIEU |

(@+3=5)
What is 4 hamologous senies? Explain with an exampla,

1A= MR b 0F TERDE et el g saefye SRR @ 6 Qg
¥

Write three Chenucal properties of Carbon compounds with suitable Chemical

reactions. BiharPaper.com

q]_/ OR

[212]
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BiharPaper.com

(@) Tamfas woee
b BANE & st ¢ Ut e et # g #T (2+3=5)
r — .
Herenciare between metal and non-nietal on the basis of their chemical
Properties.
(b)

e A |

I A A R o sy n A wraRer
M Zn i Fe
Ammange the me

i Ca (iv) Mg (v K (vi) Na
tals given in the order ol their decreasing reactivity.

W Zn G Fe i ca iy Mg 0 K i) Na

HWafismm/ BIOLOGY  BiharPaper.com

T9-90R% 4¥1/ Short Answer Type Question
Pda, Instructions:

mrr e '
15 ¥ 20 &% Fg-awa wvr gk o P wre ) aT I 2
7 4 '
here are short answer type questions form question No. 15 to 20, Give answer any four
questiosn out of six short answer iype quesiions.

15, T99 O 398ed e @1 amfeg fra arsy @

Draw a labelled diagram of the longitudinal section of a Mower.
16. e soa @3 fFw wwr &2 2)

How does the Nervous tissue act?
17. & urage F @2 50 vaafns adam § wm ad) (@)

What is Pholosynthesis? Express it in Chemical equation,

I18. Srarzd 3w &7 RN R v & (o & A 9o qaonar 27 )

What ure Fussils? What do they tell us about the process of evolution?
19. gfitaa 3 suuhel & 73 yfw &2 "

What is the role of decomposers in the Fcosysiem?

BiharPaper.com
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BiharPaper.com

What changes can ¥ou make in your habits to become environment — friendly?

S-3ede a1/ Long Amswer Type Question
2L A WG a5 Bt ARG faa @) v e - o gRban B o (5)
Draw a labelled diagram of human digestive system and ¢xplain the digestion process

of Food,

_ OR BiharPaper.com
S A ey (R) & s w0 Ry ST aen 59 At T gefa A

Draw the structure of a neuron’ and cxﬁlain its function.

- Srem——— e SN

BiharPaper.com
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